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PARTAV (a) - 5
MATHEMATICS AND SCIENCE ~ BOOKLET Q
91 The ratio of a side and altitude of an 96 The circumference of a circle and

equilateral triangle is ....... ALY 1 _ Perimeter of a square are equal. If
&5 Somo@ibeo G, goeo m i ' the side of a square is 11 cm then
2« the area of a semicircle in sq.cm.
é‘:aafa:e:);%@ ........... .- 4 “is ..k
@ 2:1 @ 1:2 o eEDisen Moo Bt o, W
. (3) 2:43 4).V3:1 - e SPoen ST, WAUER0 G0y, e
. 92. On some amount, if the simple [~ 11 20.00. eoxwd of 9B JTosw
interest payable at the end of 4 years (5:20.20.) cccvcvrrrnen

is equal to 3/5" of the principal [ ~

amount, then the percentage of (1) 83 «(2) 77 (3) 11 (4) 22

97. A train travels 36 km in the first half

interestis............ b d 90 kum i t half h
- our an m in next half hour
S8 s‘:ﬁﬁﬁ * Bealoun amil and 108 km in next one hour. The
DoBHeNS PESG, e Soys® 8/5 average speed of the train in km[hr
SO SATSD HGBED «..vov e 18 sosicessss
(1) 12 . (2) 12= .5 Se Jaotid eomoeaé‘%éi’b BT
- 2
-1
3 13+ . (@) 15 esgr1cu6‘90§§» 20000 BT Nowd®
3 : C 108 8.0, (Saireso Do TR HTPH0 DI -
- xt-y? 8.50. /i |
93. The simplified form of % 18 sy ( / u) :
Iy : -y L(1) 117 (2) 142 (3) 52 (4) 109
X -y .
x-—_? ot ‘°J°§a'=‘°f= TP ... 98.  Simplified value of %2 _x%_x%,,é
2 : b~ v :
@ x+y x‘b—c xcm x“b d&»%w@émbw;ﬁ
x+y
@ o M @2 (30 @1
94. Ina parallelogram the d1fference 99. Three cubes of sides 6 cm, 8 cm and
. between opposite anglesis .............. 1 cm are melted to form a new cube.
SETOIS SR’ Do Fewe 0l - 'The side of the new cubeincmiis........
s . 6 20.20., 8 20.50., 1 2.2, Lheen Ko _
@) 90° ' @ .180'0 BOUED B, €3 57 0t Qo Fheion
95. Which one of the following (20.2.8)....... ,
statements is true? (1) 7 21 39 @8
Bod e36° 55 (IS0 cesrernanne .1 100. The point that satisfies the Ly +!
. (1) J5x125 =25 inequation 4x +3y >12 is.............
@) .\/Zx\/%-\/l_o' o 4x+3y>12 & ¥ enho¥sratom
' - 2 5550 DO ... 36 ! }
@ JTep-13 g | h B
@' 165 =V7 - W@y - eEY T
' ' : @ (-31)° @ (3,-1) ik
W-111/TET-211-EM/TM " (19] P.T.O.
bt + T L - v - 244 ’—A?j"';v = =Y
. Q}.-ﬂltf !}l- lf __:t_____,?_. S Y 4 ,owxT by = ’;;l«-ﬂ

i = LA
Y e Gl y-3 %"*?— Az



101. Identlfy the pair of equal sets in the'
followmg

(A) {x|x is a letter in OFFICER}

{x|x1s a letter in PROFESSOR}. |

@) fx|x is a letter in FLOWER}:
- {x|xisaletterin FOLLOWER}.

(C) {x|x is a letter in JUNGLE}; |
{x|xis a letter in FORESTS}.

D) {x|x is a letter in COMMON}';
{x|xis a letter in COLUMN}.

 BoD TS % 5000 v
" (A {x|x &30 OFFICER e 585069
‘ pisoo}; {x| x &30 PROFESSOR
O S8 e},

(B) {x|x 38 FLOWER 5> 55085
oEES0); {x|x eisd FOLLOWER
&0 56506%) esgssos).

(C) {x| x &30 JUNGLE esido 55065
esos); {x| x &8 FOREST et |

| 55067 o).

D) {x|x &30 COMMON e ss06%

@ipsa); {x] x &30 COLUMN e

5506% exgasss).
(1) C @ A’
(3 D .(49 B

102. In classes 15 — 18, 19 — 22, 23 — 26,
............ the lower limit of the class
interval 19 = 221is _
15— 18, 19 — 22, 23 — 26 B51MB0e8% -
19 — 22 85118 Bk, OIS e

- BOOKLET' @
103. The Iength of arectangleis 12m and
its dlagonal is'15 m. Its breadth in

metersis .......co.... _
M7 (2) 6
3) 8 49

2.5 Y W0t @y, My 12 Do,
So0atia 0 1500 15 2. e9aaskd T Dlsesdy

(Roes5%)
7 (2) 6
3) 8 ‘@9 iy
T
104. The value of T 18
T G0, S BP0 ..vlen
1+*—1
. 1+'§
) 11 g8
(1_) 13 ) “o
‘@ 1o (@) 122

105. In a school the ratio of boys and
- -girls i 4 : 5. If 100 girls left the
school, the ratio becomes 6 : 7. Then

the number of boys in the school is....

28 FeTeb! eresth $00ak wrh¥ 4G
4: 5. om0 06 100 5000 DSBS -
BT T8 DB 6 1 T K B5POY, FETO

E PO BOPg cvvvevv.
(1) 1400 @) 1500
“+(3) 1200 (4) 1300

106. Identify the number which is not a
prime number from the followmg

(1) 185" 5o (@08 st L?:qs“:é.ooaps 0 oI
2 22.5 oBossis .
@ 19 1 71 . (@) 91
w205 3 31 @ 61
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. 1»07.,I'f_,¢ach exterior angle of a 'regulsltr;

poljrgon is 120", then the nuzi‘lber of

- sidesare............. .
2. (1590 22850808 B0, a?b% a:umsgse:m
1200 @0 &xna?s oo dhee & o '
Q) 5 | @6
(3) 4 L@ 3

108. If the perimeter of a triangle is
5y + 2z and its two sides are 2y + 3z
and z -y, then the third sideis..........

¥ (Bgoaioo ook, woensle® 5y+2z |

Sa&o::oao'm doebowe 2y + 3z 00k

Z— Y 90000 N LR ...

o)) 5y—22 '-(2)-4y—2z ,

(@) 5y+6z . (4) 5y—6z
109. If 92 x 389 is exactly divisible by 11,

thenthe value of o 1 SO,

92 x 389 eb.:‘ooa:s 11 3 Dﬁe&oﬁ' .

zpvﬂcéaaé:éxbe;b .........
Q) 8 @) 7
.3 5 4) 6

110. A shirt s sold for Rs. 442 after giving

a discount -of 15% on the marked
price. The amoﬁnt of discount in
rupeesis....... -

% oD 15% Lo 3 a..§ T
442" EPPO0%H e HooBxo

BOOKLET @

.11__1. f(n) denotes the set of all factors

of a. -natural number 'n'. If

F(8)Nf(20)=f (x), then the value
| Sime og ' B, e ForTosy
32580 f(n) sPdotose, |
f(8)ﬂf(20) =f(x) wodx des .....

L1z @20 @4 @8
1
112. If (64)" = (256)3' ,then 3x+4y=
- (64)° =
(64)" = (256) @3x+4y |
‘Mo @1 -2 @-1

113. Euclid and his gifted forerunners-
~ ,collected and systematized all the
geometrical relations in a-valuable
treatise on Geometry, namely .......
.(1) Meru-prastana
(2) Pascal triangle =
(3) Kalpa
(4). The Elements
Caperiedisinsd crdh Simmend Kt Toger
B B F8to0 Tgrhiedd Soworredy3d
, 16~
DIVOD .5 LSEHE’ e ey etz
D e Ly lED‘;, L "8 /
(1) Do @) >58 @:a_gs:m 0

837
(3) §Eb . (4) 5939330&% EFL’B?A’")
114. In a frequency distribution, if the . o
_ lowest class interval is
25-29 and the last class intervalis |
75-79, then .the range of the L
distribution s .............

‘)*f"f’/

Y Lo,ﬂ—o
Lrrd !

(73508) ... o Droatys, DepeSin Gk, D BNS
(1) 87 @ 66 25-29 550050 D0 BENO T5-T9 wansd
(3) 52 @ 78 2753855 DRSS o3, TG v -3
| | ms5@5 @54 @s0
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" 115. A school 'o'rganized_ a supervised

study for the slow learners by gifted

t:hjldren. The prime value de{(eloped :

among studentsis ........
(1) social value

' (2) cultural value

' (3) utilitarian value
(4) disciplinary value

‘o.¥ Sopest BOLFHOBITI .wefb oot |-

@%&&e&&%ﬁé@%@m@w&
. D es® DoroliS B0Ps DD evere.
(1) dedosdass

(2) RroisyBE D |

+(3) BT Do

W(4) &R desd

116. The prime use of niicroteaching

(1) immediate feedback helps to
. modify the presentation of a
concept L
(2) any number of children can be
involved in the process

- (8) a number of concepts can be.

taught at a time

" (4) thereis notime limit to develop |

the specified skills in one context

ey %59 o0gp BATESO oo

(1) S SO TS, I585506° S8 .

" AEEE0s Dugseod

(2) ¥+ BI3WS® Joskocd e I |

U oSO

" (8) ‘2 So0wos® ed grsses SHoEsEy

@) 3 Bostyps® 20R  Dvemes
2OFBOVER TP HOND B

o ;OOKLET @
-117. "All right angles are congruent" .
3 This axiom was given by ........... .
- (1). Pythagoras
(2) Thales
(3) Euclid
@) ;-

sy wow Semes By BEFTON. B

118. "Student selects an appropriate

formula to solve the given problem".
" This is the specification of the

instructional obj eetive ) - :

1) apnlicatien

@ skill'

3) understanding‘

@ knowledge

D :’W@’ RIS 3@55 ::ao'.’u:é
SRy Ny Sours. 30 B eS‘a,Sav

(1) Ha8>re
. (2) ?_@m;so
'(3) enTS

(@) emsian
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- 119_ "If two parallel lines .al"e cut by a
transversal, then: the alternative [ =
angles are equal". The teaching |

method used to prove thisis the ... |

(1) project method
(2) synthetic method

(3) analytic method -

(4) problem solving method

“Botio VSFOBY Sposs o8- LA
a:o&obbss Dot Semen om::o”&as
Ddﬁacb@bééﬁ&rﬂoﬁ%;’ag@ .....
(1) @S g0

- (@) sefssd

" (3) Jhspnsgd-

(4) Paxs;s0,0:5658
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: 120. The biggest adve{ntage of oral work

in Mathematlcs isthat ..........

(1) 1t prov1des mental conﬁrmatwn
of the information acquired

(2) it helps to review and revise
learning :

(3) it helps in orderlv presentatlon
of ideas

(4) it helps in measurihg the speed
and accuracy of mathematlcal
calculations

HeRoos® ST 50 GRoky; e [SSrato

(1) ol srarly Sy B85 ol
(2) egoie @{365;‘»5@,‘ @:s(oobog

DRI S50 Hatoed

(3 wEuse o8 B0 55080 BTl

v e Ta L VA

(@) 1e3 EEaes” S, KT, Srisse

DN S35 BEoted
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- 121. The resistance of an open electric 123. If magnesium lost two électrons and
| CITCUIt IS s e ' " 'dxy'gen- gained two ‘electrons, thén ;
(1) zero Lo o the ions formed are...... 343
(2) can't bé predicted ) 3shi oﬁ.a.o Boc:_.-»l Y ! §5 65;5&0’ :
3) infi{litY  esot Sogioeis oo soRSH
(4) negative 54 05 DS . ..... .o
300 oD Sm8§5@9$d By, A0, : (1) Mg+2,0+2
(1) wrsgo - 1 @ M2 02
(2) B , 3 Mg*?, 07
(@ whoss | @ Mg, 07
. (H) msaewin ' 124, 'Double decompbsition' occurs _when
122. Thé skin affectéd_ by an antbite is | | these chemicals r'eapt.
usually washed with soap water | . -(i) Ammonia - and 'hydrogeh
170 JRR - - : éhloride | |
‘(1) clean the skm : _ © (2) Zinc and hyd;ochldric acid
| © ?éﬁlqve the bad smell : . (3) Iron sulphate and magnesium
(3) neutralize the acetic acid [ - 4) ‘Pota.ssium iodide and lead
(4) neutralize the formic ac‘id . ; nitrate
- .avqsvcsmm BBeR b‘.&:ﬁ:@:& BroBr) Seay) -§-ﬂ5‘3"o§:®§ mmbssaaab@c: &0t
DU DT oo | | DN BENEOB. -
(1) S0 BgHSESEIS (1) SRRDais 280 m@‘asg‘aa
(2) Do T Fofosmas _' ' (2) 20f 5000k’ m@ﬁssas &9‘.’)30
_'(3) D638 esiizaco _asp%saéramz)é - - (3) 285 n;'eg)s mmﬁ&mo :
(4) $BE essgisasiso BeofBoBERS | (4) Dertacwo @56 2000 BE JES

W-111/TET-211-EM/TM [24] i



L
b

"'f’-.vermer calliper. If 10 divisions of ;

P

- 125.
- divided into 10 équai parté on a f

One centimeter of the main scale is

vernier scale equals 9 divisions of
the main scale, then the value of 1|
M.S.‘D.‘ahd least count of the |

instrument are (respectively)

. (1) 0.1cm, 0.01cm

| Bees 10 grmes 9 5 By Dred |
S 20 mlw;s S0 ey

(2) 0.01cm, 0.001 cm
(3) 0.01cm; 0.1cm
(4) 0. 001 cfn, 0.1 cm

28005 ’5°E)..:5“)55 1 2o.do. erayes 10

Dsogrmeam dfFRodndod. 386

| Do Sodckn ¥ Seden Stonm

126.

© W-111/TET-211-EM/TM

(1) 0.120.5s., 0.01 2o.5.
(2) 0.01 20.5., 0.001 Bo.2s.

(3) 0.01 0.2, 0.1 0.0

(4) 0.001 2o.0., 0.1 o.2o.

If the relative density of the body is |
2 and its Welght in water is 10 gms,-

Ty

127,

i~

then its weight 1n air (1n grams) Yy

L5530 iy o 2 36" es iy o
10 [risooen eoxd mOS® 90k FrEe
- Ps0ed | ' '

@5

@) 15

(320
(4) 30 .

W f;,uxb
P 2

-

25] .

" useitasalan

- 128.
- moon than on earth, because
~ (1) the moon is a satellite

BOOKLET @ o

The scale of an .Ahe'ro_id barometer
is calibrated into meters of ascent to
(@) altime_t‘er' s

(2) hydrometer

(3) barometef ‘

(4) gravity meter .

ST GERID Teoso FIENSEE0 300D
Digiso BOAH Td oo’ Esretso B,
TR & Do RSBy |

(1) esDioeatso '

(2) @R,

(3) B
(4) Kososgamsto

A person can jump higher on the

(2) there is almost no atmosphere on
the moon | _-

3) t}ie value of 'g' on the moon'is .’

‘ less than that on the earth

(4) the value. of ' 'g' on the moon is
more than that on the earth

e 5 4 Bots ) Bogd Hats oy

) MG Heotss HIY swe0

(1) oot e asyue
(2) BoisoR Ebcﬁ ma‘féds@o fata by

BeMstso

T ® 'g' Deois &0 DSy :ao@;::} D02

Bys

-(4) 'g' Dmb— SR DARSEY ::é@s;a LY

. oy

b4
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129.

 130.

‘One student uses a lens of focal

length 50 cm and another uses a

lens of focal length —50 c¢m. The

nature of lens and its power used by
each of them, respectiveiy, are........
(1) Convex with power +2 diopters,
‘concave with power —2 diopters’
(2) convex with power —2 diopters,
concave with power +2 diopters
(3) concave with power -2 diopters,
convex with power +2 diopter_s
(4) concave with prowe\r--i-‘Z diopters,
convex with power —2 diopters
2% DIPQ 50 0.0, Tty Ksle,

- 506325 DTG -50 0.0, TEEBERNY,

eoT) TER9E3000B TS ESGIPAODD Keok

P Kool S, WOHT

(1) +2 corgbe  Legrsws | Xelo,
— 2 tarpbo TS Keoto

@) -2 corgle Nowrmt  Suwe,

+ 2 GourEbe Hersty Swso
(3) —2. caurbe
+ 2 &oirsbe Hogrsd Ko

DTS Kelo,

(@) +2 Gosrpbo  WerTw  Nele,

— 2 Gairpbe Soogrmd Sw¥e

In stationary waves, the distance

between the two consecutive points,

- which has a maximum amplitude of

T
O

W-111/TET-211-EM/TM

vibrationis ..o .
I BLomes’ KOSEeSD $0208 SORYRY
T 355058 00 SIS ...

A
@ 3

: )
3 A (4) 5

131.

132.

[26]
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If the mass and force acting on a

"bodly are doubled, then its

acceleration.............
(1) increasé_s by 2 times
(2) increases by 3 times

(3) remains the same

" (4) decreases

28 SR ok, (S5O0, AP BIBD

PP, HFORD) TkSI000B T BB, ...
Q) TotBesy BRI

(2) a7 Dy DI |

(3) SrEs

(4) Bri

Identify the pair in which one

. doesn't match with the other.

(1) Basic— High-levél language

(2) Compiler Q'Hardware

(3) 8 bits — 1 Byte
(4) Machine language — Assembler

éa_@paavses‘maéms‘sésompoaa |

(1) 255 - iy 22w 5734
@) g;;&‘e,s _inE36

(3) 8De-185

(4) cooEgRs - edowb



- '133. Ta}_;onomyris not’ ﬁseful in fhis

regard.

(1) ‘Toidentify t;he organism easily

@ To understand the eiro]iitib_h of.

11v1ng beings

_ (3) To study the 11V1ng thmgs only

- things due to diseases

4 Diseio08® Gt T GBS |

(1) 200 B KQoERs

() e’ meses §aﬁ'mcso_3g::»‘-

134.

(2) o 80w ard) el SshEnt |

(3) B estsoive DOEAR W

| eogoisse Saml3

If timber is needed for constrticting

a house, the tissue to be examined

to test its strength is

............

(1) xylem

(2) chlo;_'enchyma

(3 -lsclérehqhyma

(4)' _collenchyrha

2E . UB0S 005008

SHOERNDE, R s S

SOZERID EAPEO

- (1) TP Severeo

" W-11UTET-211-EM/TM -

- (2) 0B By s

(3) &) Severoo

(4) “‘a;:esam Spoeeo

¥od |-

3 Z_ *

A

(4) To. study changes in living'|

'136.

BOOKLET @ s

135 Dueto injury, a person s blood vessel

is cut open and the blood flow is not

continuous but wave like. The blpod

vesselis .......... e
(1) Arte'ry
(2) Capillaries .

- (3) Aorta

(4) Coronary artery

25 B3 mOboies Y o B, Lo B0

- 90 5 000 58 SN0, & T§ rdo

(1) 5302 (2) B5%s s
(3) 2SS0 T (4) St gl
A farmer Wanfs ,to'lcult.ivate a

variety of tpmatoes which\ri'pen

slowly and grow ﬂ'c‘)wér's.'differe'ntly

- coloured from their natural colours.

The technique that can help him
(1) crosé-pollination :

(2) genetic engineering'

© (3) mutation

| [2;71

(4) clonal selection

2.5 Q&u eﬁeﬁ;on“ P00 LIRS, RN
DL PR Hoe FOAD iy AT, -
BoLeR0 . PR DS, wBIE B4
PSIBE Depidiio St

'(1) Rlexioyi Lo IRt

(2) oy s0uD80R
(3) esty0 35550
(4) Se&woesa

y
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137.

These scientists are considered

as 'Father' of some branches of

Science. |

1) Birbal" Sahanl Ww. Harvey,
- Nagarjuna

(2) Panchanan Maheswari,

" M. O. P. Ayyangar, Aristotle

(3) Aristotle, M. S. Swammathan
H. G. Khorana

(4) Ronald Ross, Louis Pasteur,
T.'S. Venkataraman '

B Qe FH0E%D 57y Fpets
ol A A]

RNV HOKtAew 22T

(1) D5 Fmy, W. 1588, ormtigs
(2) oSS aiso,
M. O. P. exa50m6, es6e06
(3) @08, M. S. s,
H. G. 550'@ '

(@) BoB, eron 5,

138.
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T. S. DosesTises

A student observed an arthropod
taking rest on the trunk of a tree.
Its wings were kept parallel to the
trunk-of the tree. The living being

1S e, -
(1) butterfly (2) moth
(3) parrot (4) crow .

28 Desrotion @0 BBo¥oowody
a@‘&ﬁmﬁw@mm SRICES
ey SRR SroBtoT é:&j) e;sa?&')
(1) w§5§€)m§

(2) &

(3) Trswens

(4) =8

b s

BOOKLET ‘B .

139. One of the following is not a

characteristic feature of animals.
(1) Shape

() Size

~ (3) Apical domin_ance

140.

. 0)

(4) Growth

Bod TISE° 2.5 modoPe Lo w0,
(1) essood '

(2) “osrevse

(3) rR%s -

@ wostoze

Identify the true statements
regarding unisexual flowers.

A) Both androecium and
gynoecium are present
B) Either androecium or

gynoecmm is present
Cross pollination takes place
D)
 androecium cannot produce
fruits

Flower-_s which have only

VEDOK HTLyod L‘éoz:o@o:) ¥0% A

 KoGoios. ,
.A) $90999, eotsianmess SOR [=CTh e LY

" B) 0000 ™o, eaocgs‘rsmmm 5O

- [28]

" &oeron
C) SESTH Sod,R0 el
D) E50790 SrESo SOACIS HFes
L PeReRgaBd
(1) C)and D)
(2) A), C) and D)

(3) A) and B)

4 B),C)andD)



141.

One of the following is correct

-regarding ORS.

(1) Should be given to patients only
0hce- in a large quantity

(2) Thisis necessary to improve the
condition of a sunstroke victim

(3) This can be stored :

+ (4) Add 4 spoons of salt and a pinch

of sugar to water .

ORS 5 Soesc8i00 (308 TOE° .53 55500

(1) ep8Rws0s e85 EAt gmd

(2) 56Dy BADS T HOPPD Dotoltd
55503 0 By HOM IR

(3) B dex Gy,

142,

(4) TPeit o0 daily, WeSBE BOWTRELD
238 Bond

A drunkard, after consuming more

alcohol, loses balance while walkin_g.

" This is due to the nonfunctioning of

this part of body temporarily.

'W-111/TET-211-EM/TM

(1) Cerebellum

(2) Cerebrum .

(3) Forebrain
(4) Big brain -

SRR BB DR &5 (@i

0050 iyt BT, B8 50 e

#0506%) B agPlio 50 5 Dot sesdo,
(1) ewosolign | ‘
(2) sy

(3) 00t oS>

(4) 255 Doesesd>

143.
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The'disea'ses that are caused by

~ viruses in human beings are .....

(1) _amoebiésis, “Cholera, Whooping
+ cough

(2) goitre, Fluorosjs, Critinism

(3) hepatitis, Encephalitis, Measles

(4) plague, Leﬁrosy, TetanﬁS'

2056 D UIEDRL Kol L0 -.ovvenn.

(1) eoRomoirhd, Soor, B

144,

:_ [29]

(2). ™aeab, QESE?JS, Be3Dezo

(3) Rk, B TR, ST
@) §ro, i, oo

Efamples of .carnivoz_'e and -
omnivore respegfively are ............
(6)) beér, cat

(2) jungle cat, fox

(3) tiger, sparrow

(4) human being, crow

BTN, SEFETOR SN

S (1) desloeod, 5

(2) &, 8y,

(3) B, by
(4) B, T8

_ P.T.O.



" 145.

"-(2) e Tges® zg&').:& &y @@os.sn '

The main aim of providing practical |

work in smence to students 1S.

.(1) to make them learn new

concepts in science
(2) to 1nculcate process SklllS
1nherent 1n science
(3) to inculcate social values among
children |
(4) to

avoid indiscipline
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In continuous comprehensive

' evaluation (CCE),

‘the term
'comprehensive’ implies ..........

' child's
development‘_and_ progress 1n

(1) estimation of a

both theory and practical exams

(2) assessing the progress in both

scholastic and the co-scholastic

aspects. of a stud‘ent's":érow_th' '

and development

at all levels of his academic
achievement |
evaluation of the total subject

matter of a unit

by
developing respect towards work |

total evaluation of an individuai
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The best psychological premise for

SCIeNce is ...ooiilien.

(1) abstract to whole

(2) w-hole to parts

3) abstract to concrete

: (4) concrete to abstract
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' 148. Oneofthe following -is: not related to

aims of teachmg

(1) Aims are fully and completely :

achievable. .

(2) The school as well as somety

are respons1b1e for thelr'_

‘achievement.

(3) Aim is the answer to the

questlon why a sub]ect is to be
taught

(4) It1is a general declaration which

gives direction to a teaching [

programme.
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Student ﬁs'es'the materials and |-

tools in a proper way. This aspect

belongs to...........

(1) collection and pre'serva-tion

- skills
(2) observation skills

(3) manipulative skills

(4) dissection skills
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is more

convenient because ........

(1) the operation of a projéqtor 1s

" quick and there is no need to

change the slide

(2) it consumes less electrical
energy and needs no éss.istant to
operate the projector '

(3). teacher

" simultaneously whlle teachlng )

can, use it

(4) the picture clarlty is more than -

that of any other pl‘O]eCtOI'
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